COMPLEX NUMBERS
1) Express in terms of i and simplify: 
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2) Simplify: i83
3) Simplify: i137 
4) Find the additive inverse of -2 + 5i
5) Find the multiplicative inverse of 2 + 4i
6) Simplify: (4 + 3i) + (7 – 2i)

7) Simplify: (2 + 9i) – (6 – 3 i)

8) Simplify: (4 + 3i)(6 – 3i)

9) Simplify: 
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10) Simplify: 
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11) Simplify: 
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12) Simplify: 
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13)  Simplify: 
[image: image6.wmf]20

4

45

5

-

-

-


14) Simplify: 
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15) Simplify: 
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16)  Simplify: 
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17) Simplify: 
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18)  Sketch a graph of -2 – 5i.

Complex Numbers Regents Problems
1) What is the sum of 
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(1) 6i


(2) 5i
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(3) 2i
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(4) 4i
[image: image15.wmf]2


2) Melissa and Joe are playing a game with complex numbers.  If Melissa has a score of 5 - 4i and Joe has a score of 3 + 2 i, what is their total score?

(1) 8 + 6i

(2) 8 – 6i

(3) 8 + 2i 

(4) 8 - 2i 
3) Expressed in simplest form, i16 + i6 - 2 i5 + i13 is equivalent to

(1) 1


(2) -1


(3) – i


(4) i
4) [image: image1.wmf]200

-

Fractal geometry uses the complex number plane to draw diagrams, such as the one shown in the accompanying graph.

Which number is not included in the shaded area?


(1) -0.5 – 0.5i
(2) -0.9 – 0.9 i


(3) -0.5 i

(4) -0.9
5) The relationship between voltage, E, current, I, and resistance, Z, is given by the equation E = IZ.  If a circuit has a current I = 3 + 2i and a resistance Z = 2 – i, what is the voltage of this circuit?
(1) 4 + i

(2) 8 + 7i

(3) 8 + i

(4) 4 – i
6) In an electrical circuit, the voltage, E, in volts, the current, I, in amps, and the opposition to the flow of current, called impedance, Z, in ohms, are related by the equation E = IZ.  A circuit has a current of (3 + i) amps and an impedance of (-2 + i) ohms.  Determine the voltage in a + bi form.

7) Show that the product of a + bi and its conjugate is a real number.

8) Solve for x in simplest a + bi form: x2 + 8x + 25 = 0.
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